50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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%%Module—l
What is the need of stack * memory in microcontroller? How stack is operated in 8051

microcontroller? o (10 Marks)
Explain the different agd'ﬁb%%ng modes of 8051 wit@ ar%“‘gxample. (10 Marks)
N -
4 OR ¢

Describe the bit; gmtem of Program Status ng% (PSW). (06 Marks)
Explain the memory organization of 8051. (07 Marks)
Discuss th worjqng of 8051 mlcrocontroller’thh the help of block diagram. (07 Marks)
Explam the unconditional jump Lt}gtructlon with address range. (08 Marks)
Describe the following instructions “with an example, h:

(i) XCHD A, @Ro @1) OVC A, @A+PCY 7 (iii) SWAPA

(iv) MOV A, @R, : (v1) AE)DC A, @Ry  u (12 Marks)

OR. 3.
Write an assemb anguage program to convert ASCH number tOzBCD number. (05 Marks)
Analyze the following instructions and erte the comment line.for each?
MOV A, #85H - y
RR A «#
XCHA, Ro
AD[) A, Ro
SWAP A

4 (05 Marks)

(10 Marks)

™ 4 " Module-3
- “Explain the dlfferenf ata types supported by 8051C microcontroller. (08 Marks)
Describe the §;gn1ﬁcance of TMOD “3t1uct1on in detail. (08 Marks)

Write a 8051 AEP program to co%plement bit P; s ON and OFF 10000 times. (04 Marks)

OR
Write an ALP to create 2 sq\%are wave of 100 Hz with a duty cycle of 80% on port 1%. Use

timer ‘0’, and operate tha‘gm(pmer 0 in mode 1. Assume crystal frequency as 12 MHz.
(10 Marks)

A switch is connccted) to PM P, ,. Write on 8051 C program to monitor ‘SW’ and create the

SW= 1 750 HZ
Use tlmpx‘*@, ,mode 1 for both of them. Assume crystal frequency as 11.0592 MHz. (10 Marks)

4:
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Module-4
Explain the importance of TI and RI flags. ! (04 Marks)
Describe simplex, half duplex and full duplex sqriﬁiﬁ’j&laf%é transfer. (06 Marks)
Write a C program to transfer the message “Ef > serially at 9600 baud rate, 8 bit data

and one stop bit continuously. a % ’ Sy (10 Marks)

What is an interrupt? List various intefm,;ptg with their corresponding vector address.
) o (06 Marks)
Write a program to retrieve thégiia serially and put them gi%Pg%vﬂSet the baud rate at 4800,
8-bit and one stop bit. PAS A (06 Marks)
Explain the asynchronous seﬁal@bmmunication and data frame format. (08 Marks)
e \ Module-5 i .

Explain the architecture'and working of LCD. Draw its schematic diagram. (10 Marks)
Explain the constfuction and working of steppet motor. Also explain two phase, 4-step
stepping sequengﬁ;‘é; step angle and steps percféyoykution. (10 Marks)

4 . ) CMRIT LIBRARY

OR BANGALORE - 560 037

ExplainﬁNK e
configurations: -
(i) ~All'ports of A, B and C are'O/P ports (mode ‘0°) N
(i) PA=IN, PB = OUT, PCL=OUT and PCH = OUT" . (12 Marks)

&

» . T s " )
Explain the steps to interface ADC 0808 to Lhé«ﬁ’ﬁSOSWl’ mlCI‘OCOHtIOﬂ"ﬁ; with interfacing
A i 4 : & 4
: W (08 Marks)

diagram. ‘ L '

f ‘8255 IC. Find the control word for following

S
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